Annals of Fuzzy Mathematics and Informatics Volume 13, No. 3, (March 2017), pp. 403–419 ISSN: 2093–9310 (print version) ISSN: 2287–6235 (electronic version) http://www.afmi.or.kr

© FMI © Kyung Moon Sa Co. http://www.kyungmoon.com

# Characterization of regular semigroup by $(\in, \in \lor(k^*, q_k))$ -fuzzy ideals

Muhammad Sajjad Ali Khan, Saleem Abdullah, Khaista Rahman, Syed Zaheer Abbas

Received 6 June 2016; Revised 5 July 2016; Accepted 30 August 2016

ABSTRACT. In this article we define the notion of  $(\in, \in \lor (k^*, q_k))$ fuzzy left (right) ideals,  $(\in, \in \lor (k^*, q_k))$ -fuzzy (generalized) bi-ideals,  $(\in, \in \lor (k^*, q_k))$ -fuzzy interior ideals and  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasiideals in semigroups. Finally we characterized regular semigroup by the properties of these ideals.

## 2010 AMS Classification: 20Mxx, 16D25, 20M17

Keywords:  $(\in, \in \lor (k^*, q_k))$ -fuzzy (generalized) bi-ideals,  $(\in, \in \lor (k^*, q_k))$ -fuzzy interior ideals,  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideals.

Corresponding Author: Muhammad Sajjad Ali Khan (sajjadalimath@yahoo.com)

### 1. INTRODUCTION

There has been a quick development worldwide in the importance of fuzzy set theory and its applications for the past several years. Evidence of this can be found in the increasing number of high quality research articles on fuzzy sets and related topics that have been published in a variety of international journals, symposia, workshops, and international conferences held every year. It seems that the fuzzy set theory deals with the applications of fuzzy technology in information processing. The application of fuzzy technology in information processing is important and its significance will certainly increase in the future. The basic concept of fuzzy set was first proposed by Zadeh in his inspiring paper [20], in which he discussed the relationships between fuzzy set theory and probability theory. This paper has opened up keen insights and applications in an inclusive range of scientific fields. After the Zadeh's fuzzy sets many researches conveyed the researchers on the generalizations of the of fuzzy sets ideas, with huge applications in computer science, artificial intelligence, control engineering, expert, robotics, automat theory, finite state machine, graph theory logics and many branches of pure and applied mathematics. In, 1971, Rosenfeld introduced the theory of fuzzy groups [15]. In 1979, Kuroki originated the theory of fuzzy Semigroups in his definitive papers [9, 10], the author defined fuzzy bi-ideal of semigroups and discussed some of its properties. One can find theoretical results on fuzzy semigroups and their use in fuzzy coding, fuzzy finite state machines and fuzzy Languages in a systematic exposition of fuzzy semigroups by Mordeson et al. [11]. Fuzziness has a natural place in the field of formal languages. In [12], Mordeson and Malik, deal with the applications of fuzzy approach to the ideas of automata and formal languages. In 2004, the concept of a fuzzy point belonging to fuzzy subset under a natural equivalence on fuzzy subset was initiated by Murali [13]. The 1980, the idea of quasi-coincidence of a fuzzy point with a fuzzy set was defined by Pu [14]. These two ideas play a vital role in generating some different types of fuzzy subgroups. Bhakat and Das [1, 2], gave the concepts of  $(\alpha, \beta)$ -fuzzy subgroups by using the "belongs to" relation ( $\in$ ) and "quasi-coincident with" relation (q) between a fuzzy point and a fuzzy subgroup, and introduced the concept of an  $(\in, \in \lor q)$ -fuzzy subgroup. In particular,  $(\in, \in \lor q)$ -fuzzy subgroup is an important and valuable generalization of the Rosenfeld's fuzzy subgroup. It is now natural to study similar type of generalizations of the existing fuzzy subsystems of other algebraic structures. In [3],  $(\in, \in \lor q)$ -fuzzy subrings and ideals are defined. In [5], Davvaz defined  $(\in, \in \lor q)$ -fuzzy subnearrings and ideals of a near ring. In [6], Jun and Song initiated the study of  $(\alpha, \beta)$ -fuzzy interior ideals of a semigroup. In [8], Kazanci and Yamak studied  $(\in, \in \lor q)$ -fuzzy bi-ideals of a semigroup. In [4], Bhakat defined  $(\in \lor q)$ -level subset of a fuzzy set. Shabir et al. in [16], characterized semigroups by the properties of  $(\alpha, \beta)$ -fuzzy ideals. Generalizing the concept of a quasi-coincidence of a fuzzy point with a fuzzy subset Jun [7], defined  $(\in, \in \lor q_k)$ -fuzzy subgroups and  $(\in, \in \lor q_k)$ -fuzzy subalgebras in BCK/BCIalgebras, respectively. In [17],  $(\in, \in \lor q_k)$ -fuzzy subsemigroup,  $(\in, \in \lor q_k)$ -fuzzy left (resp. right) ideal,  $(\in, \in \forall q_k)$ -fuzzy interior ideal,  $(\in, \in \forall q_k)$ -fuzzy quasi ideal and  $(\in, \in \lor q_k)$ -fuzzy bi-ideal are defined and different classes of semigroups are characterized in terms of these notions. In [19], Thillaigovindan et al introduced the notion of characterized near-ring by interval valued  $(\alpha, \beta)$ -fuzzy ideals. Recently in [18], Tang et al. initiated the notion of interval valued  $(\in, \in \lor (k^*, q_k))$ -fuzzy of ordered semigroups.

In this paper we introduce the concepts of  $(\in, \in \lor (k^*, q_k))$ -fuzzy left (right) ideal,  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal,  $(\in, \in \lor (k^*, q_k))$ -fuzzy bi-ideal,  $(\in, \in \lor (k^*, q_k))$ -fuzzy interior ideal,  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideal and characterize regular and intra-regular semigroups by the properties of these ideals. The concepts of an  $(\in, \in \lor (k^*, q_k))$ -fuzzy left (right) ideal,  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal,  $(\in, \in \lor (k^*, q_k))$ -fuzzy bi-ideal,  $(\in, \in \lor (k^*, q_k))$ -fuzzy interior ideal,  $(\in, \in \lor (k^*, q_k))$ fuzzy quasi-ideal are the generalization of the concepts studied in [16, 17]. If we take  $k^* = 1$ , then we get, an  $(\in, \in \lor q_k)$ -fuzzy left (right) ideal,  $(\in, \in \lor q_k)$ -fuzzy generalized bi-ideal,  $(\in, \in \lor q_k)$ -fuzzy bi-ideal,  $(\in, \in \lor q_k)$ -fuzzy interior ideal,  $(\in, \in \lor q_k)$ fuzzy quasi-ideal of semigroup [17]. If we take  $k^* = 1$  and k = 0, then we get, an  $(\in, \in \lor q)$ -fuzzy left (right) ideal,  $(\in, \in \lor q)$ -fuzzy generalized bi-ideal,  $(\in, \in \lor q)$ fuzzy bi-ideal,  $(\in, \in \lor q)$ -fuzzy interior ideal,  $(\in, \in \lor q)$ -fuzzy quasi-ideal [16], which means that these fuzzy ideals become a special case of an  $(\in, \in \lor (k^*, q_k))$ -fuzzy left (right) ideal,  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal,  $(\in, \in \lor (k^*, q_k))$ -fuzzy bi-ideal,  $(\in, \in \lor (k^*, q_k))$ -fuzzy interior ideal,  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideal of a semigroup.

### 2. Preliminaries

Throughout this paper, S will denote a semigroup unless otherwise stated. A non-empty subset A of S is said to be a subsemigroup of S, if  $A^2 \subseteq A$ . A non-empty subset I of a S is said to be a left(right) ideal of S, if  $SI \subseteq I(IS \subseteq I)$ . A non-empty subset I of S is said to be an ideal, if it is both left and right ideal of S. A non-empty subset B of S is said to be a generalized bi-ideal of S, if  $BSB \subseteq B$ . A non-empty subset B of S is said to be a bi-ideal of S, if it is both a subsemigroup and a generalized bi-ideal of S. A subsemigroup I of S is said to be a non-empty subset B of S. A subsemigroup I of S is said to be a number of S, if  $SIS \subseteq I$ . A nonempty subset Q of S is said to be a quasi-ideal of S, if  $QS \cap SQ \subseteq Q$ . An element a of S is said to be a regular element, if there exists an element x in S such that a = axa. S is called regular, if every element of S is regular. An element a of S is called intra-regular, if every element of S is intra-regular.

A fuzzy subset f of a universe X is a function from X into the unit closed interval [0,1], that is  $f: X \to [0,1]$ .

Let f be a fuzzy set of a semigroup S and  $r \in [0,1]$ , the set  $U(f;r) = \{x \in S | f(x) \ge r\}$  is called a level subset of the fuzzy set f.

Let f and g be two fuzzy subset of S. Then the product  $f \circ g$  is defined by

$$(f \circ g)(x) = \begin{cases} \bigvee_{\substack{x=ab \\ 0 & \text{otherwise.}}} \{f(a) \land g(b)\}, \text{ if there exists } a, \ b \in S, \text{ such that } x = ab \\ 0 & \text{otherwise.} \end{cases}$$

Let A be a non-empty subset of S. We denote by  $f_A$ , the characteristic function of A, that is the mapping of S into [0, 1] defined by

$$f_A(x) = \begin{cases} 1, \text{ if } x \in A\\ 0, \text{ if } x \notin A. \end{cases}$$

Obviously  $f_A$  is a fuzzy subset of S.

A fuzzy subset in a universe X of the form

$$f(x) = \begin{cases} r \in (0,1] \text{ if } y = x \\ 0 & \text{ if } y \neq x \end{cases}$$

is called a fuzzy point with support x and value r and is denoted by  $x_r$ . The following theorems are well known in semigroups.

**Lemma 2.1.** For a semigroup S, the following are equivalent:

- (1) S is regular.
- (2)  $R \cap L = RL$  for every right ideal R and every left ideal L of S.
- (3) QSQ = Q for every quasi-ideal Q of S.

**Lemma 2.2.** For a semigroup S, the following are equivalent:

- (1) S is intra-regular.
- (2)  $R \cap L \subseteq RL$  for every right ideal R and every left ideal L of S.

405

**Lemma 2.3.** For a semigroup S, the following are equivalent:

(1) S is both regular and intra-regular.

- (2) Every quasi-ideal of S is idempotent.
- (3) Every bi-ideal of S is idempotent.

**Theorem 2.4.** For a semigroup S the following conditions are equivalent:

(1) S is regular.

(2)  $B \cap A \cap L \subseteq BAL$  for every bi-ideal B, interior ideal A and left ideal L of a semigroup S.

(3)  $B[x] \cap A[x] \cap L[x] \subseteq B[x]A[x]L[x]$ , for some x in S.

# 3. Characterization of Regular Semigroups in Term of $(\in, \in \lor(k^*, q_k))$ -fuzzy Ideals

Generalizing the concept of  $x_rq_kf$ , we define  $x_r(k^*, q_k)f$ , where  $k \in [0, 1)$ , and  $k^* \in (0, 1]$  and  $0 \le k < k^* \le 1$  as  $x_r(k^*, q_k)f$ , if  $f(x) + r + k > k^*$  and  $x_r \in \lor(k^*, q_k)f$ , if  $x_r \in f$  or  $x_r(k^*, q_k)f$ . To say that  $x_r(\overline{k^*, q_k})f$  means that  $x_r(k^*, q_k)f$  does not hold. In this section we characterize regular semigroups by the properties of  $(\in, \in \lor(k^*, q_k))$ -fuzzy left(right) ideal,  $(\in, \in \lor(k^*, q_k))$ -fuzzy generalized bi-ideal,  $(\in, \in \lor(k^*, q_k))$ -fuzzy bi-ideal,  $(\in, \in \lor(k^*, q_k))$ -fuzzy interior-ideal,  $(\in, \in \lor(k^*, q_k))$ -fuzzy quasi-ideal

Let S be a semigroup and  $0 \le k < k^* \le 1$ . For a fuzzy point  $x_r$ , we say that (i)  $x_r(k^*, q_k)f$ , if  $f(x) + r + k > k^*$ ,

(ii)  $x_r \in \lor(k^*, q_k)f$  if  $x_r \in f$  or  $x_r(k^*, q_k)f$ ,

(iii)  $x_r \overline{\alpha} f$ , if  $x_r \alpha f$  does not hold for  $\alpha \in \{(k^*, q_k), \in \lor(k^*, q_k)\}$ .

**Definition 3.1.** A fuzzy subset f of S is called an  $(\in, \in \lor(k^*, q_k))$ -fuzzy subsemigroup of S, if for all  $r, s \in (0, 1]$  and  $x, y \in S$ ,

$$x_r \in f, y_s \in f \Rightarrow (xy)_{\min\{r,s\}} \in \lor(k^*, q_k)f.$$

**Example 3.2.** Let  $S = \{1, 2, 3, 4, 5\}$  and " $\cdot$ " be a binary operation defined on S in the following table:

| Г | • | 1 | 2 | 3 | 4 | 5 |
|---|---|---|---|---|---|---|
|   | 1 | 1 | 1 | 1 | 2 | 2 |
|   | 2 | 1 | 1 | 1 | 2 | 1 |
|   | 3 | 1 | 1 | 1 | 1 | 1 |
|   | 4 | 1 | 1 | 1 | 1 | 1 |
|   | 5 | 1 | 1 | 1 | 1 | 1 |

Then  $(S, \cdot)$  is a semigroup. Define a fuzzy subset  $f: S \to [0,1]$  by f(1) = 0.7 = f(3), f(2) = 0.2 = f(5), f(4) = 0.6. If we take k = 0.2 and  $k^* = 0.8$ , then f is an  $(\in, \in \lor(0.8, q_{0.2}))$ -fuzzy subsemigroup of S. But

(1) f is not a fuzzy subsemigroup of S,  $f(1 \cdot 4) = f(2) = 0.2 \not\geq 0.6 = f(1) \wedge f(4)$ . (2) f is not an  $(\in, \in \lor q)$ -fuzzy subsemigroup of S,  $f(1 \cdot 4) = f(2) = 0.2 \not\geq 0.5 = f(1) \wedge f(4) \wedge 0.5$ .

(3) f is not an  $(\in, \in \lor q_{0.2})$ -fuzzy subsemigroup of S,  $f(1 \cdot 4) = f(2) = 0.2 \geq 0.4 = f(1) \wedge f(4) \wedge \frac{1-k}{2}$ .

**Definition 3.3.** A fuzzy subset f of S is said to be an  $(\in, \in \lor(k^*, q_k))$ -fuzzy left (right) ideal of S, if the following condition holds:

$$y_r \in f \Rightarrow (xy)_r \in \lor (k^*, q_k)f \quad (y_r \in f \Rightarrow (yx)_r \in \lor (k^*, q_k)f).$$

**Definition 3.4.** A fuzzy subset of S is said to be an  $(\in, \in \lor(k^*, q_k))$ -fuzzy ideal of S, if it is both an  $(\in, \in \lor(k^*, q_k))$ -fuzzy left and an  $(\in, \in \lor(k^*, q_k))$ -fuzzy right ideals of S.

**Example 3.5.** From example 3.2, if we define a fuzzy subset  $f: S \to [0,1]$  by f(1) = 0.8, f(2) = 0.3, f(3) = 0.4, f(4) = 0.5 = f(5). Let k = 0.2 and  $k^* = 0.6$ , then f is an  $(\in, \in \lor (0.6, q_{0.2}))$ -fuzzy ideal of S. But

(1) f is not a fuzzy ideal of S,

$$f(1 \cdot 4) = f(2) = 0.3 \ge 0.5 = f(4)$$

and

$$(f(1 \cdot 4) = f(2) = 0.3 \ge 0.8 = f(1))$$

(2) f is not an  $(\in, \in \lor q)$ -fuzzy ideal of S,

$$f(1 \cdot 4) = f(2) = 0.3 \ge 0.5 = f(4) \land 0.5.$$

(3) f is not an  $(\in, \in \lor q_{0,2})$ -fuzzy ideal of S,

$$f(1 \cdot 4) = f(2) = 0.3 \ge 0.4 = f(4) \land \frac{1-k}{2}.$$

**Lemma 3.6.** Let f be a fuzzy subset of S. Then f is an  $(\in, \in \lor(k^*, q_k))$ -fuzzy subsemigroup (left, right, two sided ideal) of S if and only if  $U(f,r) \neq \phi$  is a subsemigroup (left, right, two sided ideal) of S for all  $r \in (0, \frac{k^*-k}{2}]$ .

Lemma 3.7. Let I be a non-empty subset of S. Then I is a left(right) ideal of S if and only if  $C_I$  the characteristic function of I is an  $(\in, \in \lor(k^*, q_k))$ -fuzzy left(right) ideal of S.

**Definition 3.8.** A fuzzy subset f of S is called an  $(\in, \in \lor(k^*, q_k))$ -fuzzy generalized bi-ideal of S, if for all  $r, s \in (0, 1]$  and  $x, y, z \in S$ ,

$$x_r \in f, z_s \in f \Rightarrow (xyz)_{\min\{r,s\}} \in \lor (k^*, q_k)f.$$

**Definition 3.9.** A fuzzy subset of S is said to be an  $(\in, \in \lor(k^*, q_k))$ -fuzzy bi-ideal of S, if it is both  $(\in, \in \lor(k^*, q_k))$ -fuzzy subsemigroup and  $(\in, \in \lor(k^*, q_k))$ -fuzzy generalized bi-ideal of S.

**Definition 3.10.** Let f be a fuzzy subset of S. Then f is said to be an  $(\in, \in$  $\vee(k^*, q_k)$ )-fuzzy interior ideal of S if it satisfies the following conditions:

(i)  $x_r \in f$  and  $y_s \in f \Rightarrow (xy)_{\min\{r,s\}} \in \lor (k^*, q_k) f$ ,

(ii)  $x_r \in f$  and  $z_s \in f \Rightarrow (xyz)_{\min\{r,s\}} \in \lor (k^*, q_k) f$ , for all  $x, y, z \in S$  and  $r, s \in (0, 1], k \in [0, 1)$  and  $k^* \in (0, 1]$ , where  $0 \le k < k^* \le 1$ .

**Definition 3.11.** Let f be a fuzzy subset of a semigroup S. Then f is said to be an  $(\in, \in \lor(k^*, q_k))$ -fuzzy quasi-ideal of S, if the following condition is satisfies

$$f(x) = \min\left\{ \left(f \circ w\right)(x), \left(w \circ f\right)(x), \frac{k^* - k}{2} \right\},\$$

where w is a fuzzy subset of S mapping every element of S on 1.

**Definition 3.12.** Let f be a fuzzy subset of S. Then the  $(k^*, k)$ -upper part of f is denoted by  $(f_k^{k^*})^+$  and is defined as

$$\left(f_k^{k^*}\right)^+(x) = \max\left\{f(x), \frac{k^*-k}{2}\right\} = f(x) \lor \frac{k^*-k}{2},$$

for all  $x \in S$ , where  $k^* \in (0, 1], k \in [0, 1)$  and  $0 \le k < k^* \le 1$ .

Clearly,  $(f_k^{k^*})^+$  is a fuzzy subset of S. Let A be a non-empty subset of S and f a fuzzy subset of S. Then the  $(k^*, k)$ -upper part of the characteristic function  $f_A$ , is denoted by  $(f_k^{k^*})_A^+$ .

**Definition 3.13.** Let f be a fuzzy subset of S. Then the  $(k^*, k)$ -lower part of f is denoted by  $(f_k^{k^*})^-$  and is defined as

$$\left(f_{k}^{k^{*}}\right)^{-}(x) = \min\left\{f(x), \frac{k^{*}-k}{2}\right\} = f(x) \wedge \frac{k^{*}-k}{2}$$

for all  $x \in S$ , where  $k^* \in (0, 1], k \in [0, 1)$  and  $0 \le k < k^* \le 1$ .

Clearly,  $(f_k^{k^*})^{-}$  is a fuzzy subset of S. Let A be a non-empty subset of S and f a fuzzy subset of S. Then the  $(k^*, k)$ -lower part of the characteristic function  $f_A$ , is denoted by  $(f_k^{k^*})^{-}_A$ .

**Lemma 3.14.** A non-empty subset I of S is quasi-ideal if and only if  $(C_k^{k^*})_I^-$  is an  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideal of S.

**Lemma 3.15.** A non-empty subset Q of S is quasi-ideal if and only if  $(C_k^{**})_Q^{-}$  is an  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideal of S.

**Lemma 3.16.** For a semigroup S the following conditions are equivalent:

(1) S is regular.

(2)  $(f \wedge_k^{k^*} g)^- = (f \circ_k^{k^*} g)^-$ , for every  $(\in, \in \lor(k^*, q_k))$ -fuzzy right ideal f and every  $(\in, \in \lor(k^*, q_k))$ -fuzzy left ideal g of S.

**Theorem 3.17.** For a semigroup S, the following conditions are equivalent: (1) S is regular.

(2)  $\left(f \circ_k^{k^*} g \circ_k^{k^*} h\right)^- \geq \left(f \wedge_k^{k^*} g \wedge_k^{k^*} h\right)^-$ , for every  $(\in, \in \lor(k^*, q_k))$ -fuzzy bi-ideal f,  $(\in, \in \lor(k^*, q_k))$ -fuzzy interior ideal g and  $(\in, \in \lor(k^*, q_k))$ -fuzzy left ideal h of a semigroup S.

(3)  $(f \circ_k^{k^*} g \circ_k^{k^*} h)^- \ge (f \wedge_k^{k^*} g \wedge_k^{k^*} h)^-$ , for every  $(\in, \in \lor(k^*, q_k))$ -fuzzy generalized bi-ideal  $f, (\in, \in \lor(k^*, q_k))$ -fuzzy interior g and  $(\in, \in \lor(k^*, q_k))$ -fuzzy left ideal h of a semigroup S.

*Proof.* (1) $\Rightarrow$  (3): Let f, g and h be any  $(\in, \in \lor(k^*, q_k))$ -fuzzy bi-ideal,  $(\in, \in \lor(k^*, q_k))$ -fuzzy interior ideal and  $(\in, \in \lor(k^*, q_k))$ -fuzzy left ideal of S. Since S is regular, for each  $x \in S$ , there exists  $a \in S$  such that

$$x = xax = xaxax = xaxaxaxax = (xax)(axa)(xax).$$

$$408$$

Then

$$\begin{split} (f \circ_k^{k^*} \circ_k^{k^*} g \circ_k^{k^*} h)^-(x) &= (f \circ g \circ h)(x) \wedge \frac{k^* - k}{2} \\ &= \left( \bigvee_{x=bc} \left\{ f\left(b\right) \wedge \left(g \circ h\right)(c)\right) \right\} \right) \wedge \frac{k^* - k}{2} \\ &\geq f\left(xax\right) \wedge \left(g \circ h\right)(axa)(xax) \wedge \frac{k^* - k}{2} \\ &= f\left(x\right) \wedge \left( \bigvee_{(axa)(xax) = pq} \left\{ g\left(p\right) \wedge h\left(q\right)\right) \right\} \right) \wedge \frac{k^* - k}{2} \\ &\geq f\left(x\right) \wedge g\left(axa\right) \wedge h\left(xax\right) \wedge \frac{k^* - k}{2} \\ &\geq f\left(x\right) \wedge g\left(x\right) \wedge h\left(ax\right) \wedge \frac{k^* - k}{2} \\ &\geq f\left(x\right) \wedge g\left(x\right) \wedge h\left(x\right) \wedge \frac{k^* - k}{2} \\ &\geq f\left(x\right) \wedge g\left(x\right) \wedge h\left(x\right) \wedge \frac{k^* - k}{2} \\ &= \left(f \wedge_k^{k^*} g \wedge_k^{k^*} h\right)^-(x) \,. \end{split}$$

 $(3) \Rightarrow (2)$ : It is straightforward.

 $(2) \Rightarrow (1)$ : Let B[x], A[x] and L[x] be bi-ideal, interior ideal and left ideal of S generated by x, respectively. Then  $(C_k^{k^*})_{B[x]}^-$ ,  $(C_k^{k^*})_{A[x]}^-$  and  $(C_k^{k^*})_{L[x]}^-$  are  $(\in, \in \lor(k^*, q_k))$ -fuzzy bi-ideal,  $(\in, \in \lor(k^*, q_k))$ -fuzzy interior ideal and  $(\in, \in \lor(k^*, q_k))$ -fuzzy left ideal of semigroup S, respectively. Let  $x \in S$  and  $y \in B[x] \cap A[x] \cap L[x]$ . Then  $y \in B[x]$ ,  $y \in A[x]$  and  $y \in L[x]$ . Now

$$\frac{k^* - k}{2} \leq \left(C_k^{k^*}\right)_{B[x] \cap A[x] \cap L[x]}^{-}(y) \\
= \left(C_k^{k^*}\right)_{B[x]}^{-} \wedge_k^{k^*} \left(C_k^{k^*}\right)_{A[x]}^{-} \wedge_k^{k^*} \left(C_k^{k^*}\right)_{L[x]}^{-}(y) \\
\leq \left(C_k^{k^*}\right)_{B[x]}^{-} \circ_k^{k^*} \left(C_k^{k^*}\right)_{A[x]}^{-} \circ_k^{k^*} \left(C_k^{k^*}\right)_{L[x]}^{-}(y) \\
= \left(C_k^{k^*}\right)_{B[x]A[x]L[x]}^{-}(y).$$

Thus,  $y \in B[x]A[x]L[x]$ . So  $B[x] \cap A[x] \cap L[x] \subseteq B[x]A[x]L[x]$ . Hence by Theorem 2.4, S is regular.

**Theorem 3.18.** For a semigroup S, the following are equivalent:

(1) S is regular.

(2)  $(f \wedge_k^{k^*} g \wedge_k^{k^*} h)^- \leq (f \circ_k^{k^*} g \circ_k^{k^*} h)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy right ideal f, every  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal g and every  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal h of S.

(3)  $(f \wedge_k^{k^*} g \wedge_k^{k^*} h)^- \leq (f \circ_k^{k^*} g \circ_k^{k^*} h)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy right ideal f, every  $(\in, \in \lor (k^*, q_k))$ -fuzzy bi-ideal g and every  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal h of S.

(4)  $(f \wedge_k^{k^*} g \wedge_k^{k^*} h)^- \leq (f \circ_k^{k^*} g \circ_k^{k^*} h)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy right ideal f, every  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideal g and every  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal h of S.

*Proof.* (1) $\Rightarrow$  (2): Let f, g and h be any  $(\in, \in \lor (k^*, q_k))$ -fuzzy right ideal,  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal and  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal of S, respectively. Let  $x \in S$ . Since S is regular, there exists  $a \in S$  such that x = xax. Then we have

$$\begin{split} \left(f \circ_k^{k^*} g \circ_k^{k^*} h\right)^- (x) &= \left(\bigvee_{x=bc} \left\{f\left(b\right) \wedge \left(g \circ h\right)\left(c\right)\right\}\right) \wedge \frac{k^* - k}{2} \\ &\geq f\left(xa\right) \wedge \left(g \circ h\right)\left(x\right) \wedge \frac{k^* - k}{2} \\ &\geq \left(f\left(x\right) \wedge \frac{k^* - k}{2}\right) \wedge \left(\bigvee_{x=de} \left\{g\left(d\right) \wedge h\left(e\right)\right\}\right) \wedge \frac{k^* - k}{2} \\ &\geq \left(f\left(x\right) \wedge \frac{k^* - k}{2}\right) \wedge \left(\left\{g\left(x\right) \wedge h\left(ax\right)\right\}\right) \wedge \frac{k^* - k}{2} \\ &\geq f\left(x\right) \wedge g\left(x\right) \wedge h\left(x\right) \wedge \frac{k^* - k}{2} \\ &= \left(f \wedge_k^{k^*} g \wedge_k^{k^*} h\right)^- (x) \,. \end{split}$$

 $(2) \Rightarrow (3) \Rightarrow (4)$  are straightforward.

 $(4) \Rightarrow (1)$ : Let f and g be any  $(\in, \in \lor (k^*, q_k))$ -fuzzy right ideal and  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal of S, respectively. Since w is an  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideal of S, by hypothesis, we have

$$\begin{split} \left(f \wedge_k^{k^*} g\right)^{-} (x) &= \left(f \wedge g\right)(x) \wedge \frac{k^* - k}{2} \\ &= \left(f \wedge w \wedge g\right)(x) \wedge \frac{k^* - k}{2} \\ &= \left(f \wedge w \wedge g\right)(x) \wedge \frac{k^* - k}{2} \\ &= \left(f \circ w \circ g\right)(x) \wedge \frac{k^* - k}{2} \\ &= \left(\bigvee_{x=bc} \left\{\left((f \circ w)(b) \wedge g(c)\right)\right\}\right) \wedge \frac{k^* - k}{2} \\ &= \left(\bigvee_{x=bc} \left\{\left(\bigvee_{b=de} \left\{f(d) \wedge w(e)\right\}\right) \wedge g(c)\right\}\right) \wedge \frac{k^* - k}{2} \\ &= \left(\bigvee_{x=bc} \left\{\left(\bigvee_{b=de} \left\{f(d) \wedge 1\right\}\right) \wedge g(c)\right\}\right) \wedge \frac{k^* - k}{2} \\ &= \left(\bigvee_{x=bc} \left\{\left(\bigvee_{b=de} f(d)\right) \wedge g(c)\right\}\right) \wedge \frac{k^* - k}{2} \\ &= \left(\bigvee_{x=bc} \left\{\left(\bigvee_{b=de} \left\{f(d) \wedge g(c)\right\}\right) \wedge \frac{k^* - k}{2} \\ &= \left(\bigvee_{x=bc} \left\{\left(\bigvee_{b=de} \left\{f(d) \wedge g(c)\right\}\right) \wedge \frac{k^* - k}{2} \\ &= \left(\bigvee_{x=bc} \left\{\left(\bigvee_{b=de} \left\{f(d) \wedge g(c)\right\}\right) \wedge \frac{k^* - k}{2} \\ &= \left(\bigvee_{x=bc} \left\{\left(\bigvee_{b=de} \left\{f(d) \wedge g(c)\right\}\right) \wedge \frac{k^* - k}{2} \\ &= \left(\bigvee_{x=bc} \left\{\left(\bigvee_{b=de} \left\{f(d) \wedge g(b)\right\}\right)\right\} \wedge g(c)\right) \wedge \frac{k^* - k}{2} \\ &\leq \left(\bigvee_{x=bc} \left\{\int_{b=de} \left\{f(de) \wedge g(b)\right\}\right\}\right) \wedge \frac{k^* - k}{2} \\ &= 410 \end{split}$$

$$= \left(\bigvee_{x=bc} \left\{f\left(b\right) \land g\left(c\right)\right\}\right) \land \frac{k^* - k}{2}$$
$$= f\left(x\right) \circ g\left(x\right) \land \frac{k^* - k}{2}$$
$$= \left(f \circ_k^{k^*} g\right)^-(x).$$

It follows that  $(f \wedge_k^{k^*} g)^- \leq (f \circ_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy right ideal and every  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal of S. But from Lemma 3.16, we see that  $(f \circ_k^{k^*} g)^- \leq (f \wedge_k^{k^*} g)^-$ . Thus  $(f \circ_k^{k^*} g)^- = (f \wedge_k^{k^*} g)^-$ . So S is regular. 

**Theorem 3.19.** For a semigroup S, the following are equivalent:

(1) S is regular.

(2)  $(f_k^{k^*})^- = (f \circ_k^{k^*} w \circ_k^{k^*} f)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal f of S

 $(3) \ \left(f_k^{k^*}\right)^- = \left(f \circ_k^{k^*} w \circ_k^{k^*} f\right)^-, \text{ for every } (\in, \in \lor (k^*, q_k)) \text{-fuzzy bi-ideal } f \text{ of } S.$ (4)  $(f_k^{k^*})^- = (f \circ_k^{k^*} w \circ_k^{k^*} f)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideal f of S.

*Proof.* (1) $\Rightarrow$  (2): Let f be an  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal of S and x  $\in S$ . As S is regular, there exists  $a \in S$  such that x = xax. Then we have  $(f \circ_k^{k^*})$ 

$$\begin{split} w \circ_k^{k^*} f \Big)^- (x) &= (f \circ w \circ f) (x) \wedge \frac{k^* - k}{2} \\ &= \left( \bigvee_{x=bc} \left\{ (f \circ w) (b) \wedge f (c) \right\} \right) \wedge \frac{k^* - k}{2} \\ &\geq (f \circ w) (xa) \wedge f (x) \wedge \frac{k^* - k}{2} \\ &= \left( \left( \bigvee_{xa=de} \left\{ f (d) \wedge w (e) \right\} \right) \wedge f (x) \right) \wedge \frac{k^* - k}{2} \\ &\geq (f (x) \wedge w (a)) \wedge f (x) \wedge \frac{k^* - k}{2} \\ &= (f (x) \wedge 1) \wedge f (x) \wedge \frac{k^* - k}{2} \\ &= f (x) \wedge f (x) \wedge \frac{k^* - k}{2} \\ &= f (x) \wedge \frac{k^* - k}{2} \\ &= (f_k^{k^*})^- (x) \,. \end{split}$$

Thus,  $(f_k^{k^*})^- \leq (f \circ_k^{k^*} w \circ_k^{k^*} f)^-$ . Since f is an  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal of S, we have

$$\begin{pmatrix} f \circ_k^{k^*} w \circ_k^{k^*} f \end{pmatrix}^- (x) = (f \circ w \circ f)(x) \wedge \frac{k^* - k}{2} \\ = \left( \bigvee_{x=bc} \left\{ (f \circ w)(b) \wedge f(c) \right\} \right) \wedge \frac{k^* - k}{2} \\ = \left( \bigvee_{x=bc} \left\{ \left( \bigvee_{b=de} \left\{ f(d) \wedge w(e) \right\} \right) \wedge f(c) \right\} \right) \wedge \frac{k^* - k}{2} \\ = \left( \bigvee_{x=bc} \left\{ \left( \bigvee_{b=de} \left\{ f(d) \wedge 1 \right\} \right) \wedge f(c) \right\} \right) \wedge \frac{k^* - k}{2} \\ = \left( \bigvee_{x=bc} \left\{ \bigvee_{b=de} \left\{ f(d) \wedge f(c) \right\} \right\} \right) \wedge \frac{k^* - k}{2} \\ = \left( \bigvee_{x=bc} \left\{ \bigvee_{b=de} \left\{ f(d) \wedge f(c) \wedge \frac{k^* - k}{2} \right\} \right\} \right) \wedge \frac{k^* - k}{2} \\ = \left( \bigvee_{x=bc} \left\{ \bigvee_{b=de} \left\{ f(d) \wedge f(c) \wedge \frac{k^* - k}{2} \right\} \right\} \right) \wedge \frac{k^* - k}{2} \\ = \left( \bigvee_{x=bc} \left\{ \bigvee_{a=bc} \left\{ f(d) \wedge f(c) \wedge \frac{k^* - k}{2} \right\} \right\} \right) \wedge \frac{k^* - k}{2}$$

$$\begin{split} & \leq \bigvee_{x=(de)c} \left\{ f\left(dec\right) \wedge \frac{k^* - k}{2} \right\} \\ & (\text{Since, } f \text{ is an } \left( \in, \in \vee \left(k^*, q_k\right) \right) \text{-fuzzy generalized bi-ideal of } S.) \\ & \leq f\left(x\right) \wedge \frac{k^* - k}{2} \end{split}$$

$$= \left(f_k^{k^*}\right)^-(x).$$

This shows that  $(f_k^{k^*})^- \ge (f \circ_k^{k^*} w \circ_k^{k^*} f)^-$ . So  $(f_k^{k^*})^- = (f \circ_k^{k^*} w \circ_k^{k^*} f)^-$ . (2) $\Rightarrow$ (3) $\Rightarrow$ (4) are straightforward.

(4) $\Rightarrow$ (1): Let Q be a quasi-ideal of S. Then  $C_Q$  is an  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideal of S. Thus  $(C_k^{k^*})_Q^- = (C_Q \circ_k^{k^*} C_S \circ_k^{k^*} C_Q)^- = (C_k^{k^*})_{QSQ}^-$ . This shows that Q = QSQ. So from Lemma 2.1, it follows that S is regular.

### **Theorem 3.20.** For a semigroup S, the following are equivalent:

(1) S is regular.

(

(2)  $(f \wedge_k^{k^*} g)^- = (f \circ_k^{k^*} g \circ_k^{k^*} f)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideal f and  $(\in, \in \lor (k^*, q_k))$ -fuzzy ideal g of S.

(3)  $(f \wedge_k^{*^*} g)^- = (f \circ_k^{*^*} g \circ_k^{*^*} f)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideal f and  $(\in, \in \lor (k^*, q_k))$ -fuzzy interior ideal g of S.

(4)  $(f \wedge_k^{k^*} g)^- = (f \circ_k^{k^*} g \circ_k^{k^*} f)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy bi-ideal f and  $(\in, \in \lor (k^*, q_k))$ -fuzzy ideal g of S.

(5)  $(f \wedge_k^{k^*} g)^- = (f \circ_k^{k^*} g \circ_k^{k^*} f)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy bi-ideal f and  $(\in, \in \lor (k^*, q_k))$ -fuzzy interior ideal g of S.

(6)  $(f \wedge_k^{k^*} g)^- = (f \circ_k^{k^*} g \circ_k^{k^*} f)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal f and  $(\in, \in \lor (k^*, q_k))$ -fuzzy ideal g of S.

(7)  $(f \wedge_k^{k^*} g)^- = (f \circ_k^{k^*} g \circ_k^{k^*} f)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal f and  $(\in, \in \lor (k^*, q_k))$ -fuzzy interior ideal g of S.

*Proof.* (1) $\Rightarrow$ (7): Suppose S is regular semigroup. Let f and g be any two an  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal and  $(\in, \in \lor (k^*, q_k))$ -fuzzy interior ideal of S, respectively. Then for  $x \in S$ , we have

$$\begin{split} f \circ_k^{k^*} g \circ_k^{k^*} f \Big)^- (x) &= (f \circ g \circ f) (x) \wedge \frac{k^* - k}{2} \\ &\leq (f \circ w \circ f) (x) \wedge \frac{k^* - k}{2} \\ &= \left( \bigvee_{x=ab} \left\{ (f \circ w) (a) \wedge f (b) \right\} \right) \wedge \frac{k^* - k}{2} \\ &= \left( \bigvee_{x=ab} \left\{ \bigvee_{a=cd} \left\{ (f (c) \wedge w (d)) \right\} \wedge f (b) \right\} \right) \wedge \frac{k^* - k}{2} \\ &= \left( \bigvee_{x=ab} \left\{ \bigvee_{a=cd} \left\{ (f (c) \wedge 1) \right\} \wedge f (b) \right\} \right) \wedge \frac{k^* - k}{2} \\ &= \left( \bigvee_{x=ab} \left\{ \bigvee_{a=cd} f (c) \wedge f (b) \right\} \right) \wedge \frac{k^* - k}{2} \\ &= \bigvee_{x=ab} \left\{ \bigvee_{a=cd} \left\{ f (c) \wedge f (b) \wedge \frac{k^* - k}{2} \right\} \right\} \\ &= \bigvee_{x=(cd)b} \left\{ f (c) \wedge f (b) \wedge \frac{k^* - k}{2} \right\} \end{split}$$

$$\begin{split} & \leq \bigvee_{x=(cd)b} \left\{ f\left(cdb\right) \wedge \frac{k^*-k}{2} \right\} \\ &= f\left(x\right) \wedge \frac{k^*-k}{2} \\ &= \left(f_k^{k^*}\right)^- \left(x\right). \end{split}$$
Thus,  $\left(f \circ_k^{k^*} g \circ_k^{k^*} f\right)^- \leq \left(f_k^{k^*}\right)^-$ . Also,  
 $\left(f \circ_k^{k^*} g \circ_k^{k^*} f\right)^- \left(x\right) \leq \left(w \circ_k^{k^*} g \circ_k^{k^*} w\right)^- \left(x\right) \\ &= \left(w \circ g \circ w\right) \left(x\right) \wedge \frac{k^*-k}{2} \\ &= \left(\bigvee_{x=ab} \left\{ \left(w \circ g\right) \left(a\right) \wedge w \left(b\right) \right\} \right) \wedge \frac{k^*-k}{2} 4 \\ &= \left(\bigvee_{x=ab} \left\{ \left(\bigvee_{a=cd} \left\{ w \left(c\right) \wedge g \left(d\right) \right\} \right) \wedge w \left(b\right) \right\} \right) \wedge \frac{k^*-k}{2} 4 \\ &= \left(\bigvee_{x=ab} \left\{ \left(\bigvee_{a=cd} \left\{ 1 \wedge g \left(d\right) \right\} \right) \wedge 1 \right\} \right) \wedge \frac{k^*-k}{2} \\ &= \left(\bigvee_{x=(cd)b} \left\{ \bigvee_{a=cd} g \left(d\right) \right\} \right) \wedge \frac{k^*-k}{2} \\ &= \bigvee_{x=(cd)b} \left\{ \int g \left(d\right) \wedge \frac{k^*-k}{2} \right\} \\ &\leq \bigvee_{x=(cd)b} \left\{ f \left(cdb\right) \wedge \left(f \circ_k^{k^*} g \circ_k^{k^*} f\right)^- \right\} \\ &= g \left(x\right) \wedge \frac{k^*-k}{2} \\ &= \left(g_k^{k^*}\right)^- \left(x\right). \end{split}$ 

So,  $(f \circ_k^{k^*} g \circ_k^{k^*} f)^- \leq (f \circ_k^{k^*} g)^- = (g \circ_k^{k^*} f)^-$ . Now let  $x \in S$ . Since S is regular, there exists  $a \in S$  such that x = xax = xaxax. Since f is an  $(\in, \in \lor (k^*, q_k))$ -fuzzy interior ideal of S, we have

$$\begin{pmatrix} f \circ_k^{k^*} g \circ_k^{k^*} f \end{pmatrix}^- (x) = (f \circ g \circ f)(x) \wedge \frac{k^* - k}{2} \\ = \bigvee_{x=bc} \{f(b) \wedge (g \circ f)(c)\} \wedge \frac{k^* - k}{2} \\ \ge f(x) \wedge (g \circ f)(axax) \wedge \frac{k^* - k}{2} \\ = f(x) \wedge \left(\bigvee_{axax=de} (g(d) \wedge f(e))\right) \wedge \frac{k^* - k}{2} \\ \ge f(x) \wedge (g(axa) \wedge f(x)) \wedge \frac{k^* - k}{2} \\ \ge f(x) \wedge \left(g(x) \wedge \frac{k^* - k}{2} \wedge f(x)\right) \wedge \frac{k^* - k}{2} \\ (\text{Since } g \text{ is an } (\in, \in \lor (k^*, q_k)) \text{-fuzzy interior ideal of } S.) \\ = f(x) \wedge g(x) \wedge \frac{k^* - k}{2} \\ = \left(f \wedge_k^{k^*} g\right)^- (x). \\ 413 \end{cases}$$

So,  $(f \circ_k^{**} g \circ_k^{**} f)^- \ge (f \wedge_k^{**} g)^-$ . Hence  $(f \circ_k^{**} g \circ_k^{**} f)^- = (f \wedge_k^{**} g)^-$ . (7) $\Rightarrow$  (5) $\Rightarrow$  (3) $\Rightarrow$  (2) and (7) $\Rightarrow$  (6) $\Rightarrow$  (4) $\Rightarrow$  (2) are straightforward.

 $(4) \Rightarrow (2)$ : Let f be an  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideal of S. Then, since S itself is an  $(\in, \in \lor (k^*, q_k))$ -fuzzy ideal of S, for  $x \in S$ , we have

$$\begin{pmatrix} f_k^{k^*} \end{pmatrix}^- (x) = f(x) \wedge \frac{k^* - k}{2}$$

$$= (f \wedge w)(x) \wedge \frac{k^* - k}{2}$$

$$= \left( f \wedge k^* w \right)^- (x)$$

$$= \left( f \circ k^* w \circ k^* f \right)^- (x)$$

So by Lemma 3.19, it follows that S is regular.

**Theorem 3.21.** For a semigroup S, the following are equivalent: (1) S is regular.

(2)  $(f \wedge_k^{k^*} g)^- \leq (f \circ_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal f and  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal g of S.

(3)  $(f \wedge_k^{k^*} g)^- \leq (f \circ_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy bi-ideal f and  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal g of S.

(4)  $(f \wedge_k^{k^*} g)^- \leq (f \circ_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideal f and  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal g of S.

*Proof.* (1) $\Rightarrow$ (2): Let f be an  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal and g an  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal of S. Let  $x \in S$ . Since, S is regular so there exists  $a \in S$  such that x = xax. Thus we have

$$\begin{split} \left(f \circ_k^{k^*} g\right)^- (x) &= (f \circ g) \left(x\right) \wedge \frac{k^* - k}{2} \\ &= \left(\bigvee_{x=bc} \left\{f \left(b\right) \wedge g \left(c\right)\right\}\right) \wedge \frac{k^* - k}{2} \\ &\geq f \left(x\right) \wedge g \left(ax\right) \wedge \frac{k^* - k}{2} \\ &\geq f \left(x\right) \wedge g \left(x\right) \wedge \frac{k^* - k}{2} \\ &= f \left(x\right) \wedge g \left(x\right) \wedge \frac{k^* - k}{2} \\ &= \left(f \wedge_k^{k^*} g\right)^- (x) \,. \end{split}$$

So,  $\left(f \circ_k^{k^*} g\right)^- \ge \left(f \wedge_k^{k^*} g\right)^-$ .

 $(2) \Rightarrow (3) \Rightarrow (4)$  are straightforward.

 $(4) \Rightarrow (1)$ : Let f be an  $(\in, \in \lor (k^*, q_k))$ -fuzzy right ideal and g an  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal of S. Since every  $(\in, \in \lor (k^*, q_k))$ -fuzzy right ideal of S is an

 $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideal of S, So we have  $(f \circ_k^{k^*} g)^- \ge (f \wedge_k^{k^*} g)^-$ . Now

$$\begin{split} \left(f \circ_k^{k^*} g\right)^- (x) &= (f \circ g) (x) \wedge \frac{k^* - k}{2} \\ &= \left(\bigvee_{x=bc} \{f (b) \wedge g (c)\}\right) \wedge \frac{k^* - k}{2} \\ &= \bigvee_{x=bc} \left(\{f (b) \wedge g (c)\} \wedge \frac{k^* - k}{2}\right) \\ &= \bigvee_{x=bc} \left(\left\{f (b) \wedge \frac{k^* - k}{2}\right\} \wedge \left\{g (c) \wedge \frac{k^* - k}{2}\right\}\right) \wedge \frac{k^* - k}{2} \\ &\leq \bigvee_{x=bc} \left(\{f (bc) \wedge g (bc)\} \wedge \frac{k^* - k}{2}\right) \\ &= f (x) \wedge g (x) \wedge \frac{k^* - k}{2} \\ &= \left(f \wedge_k^{k^*} g\right)^- (x) \,. \end{split}$$

Then,  $(f \circ_k^{*^*} g)^- \leq (f \wedge_k^{*^*} g)^-$ . Thus  $(f \circ_k^{*^*} g)^- = (f \wedge_k^{*^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy right ideal f on S and every  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal g of S. So by Lemma 3.16, S is regular.

**Theorem 3.22.** For a semigroup S, the following are equivalent:

(1) S is intra-regular.

(2)  $(f \wedge_k^{k^*} g)^- \leq (f \circ_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal f on S and every  $(\in, \in \lor (k^*, q_k))$ -fuzzy right ideal g of S.

*Proof.* (1) $\Rightarrow$ (2): Let f be an  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal and g an  $(\in, \in \lor (k^*, q_k))$ -fuzzy right ideal of S. Since S is intra-regular, for  $x \in S$ , there exist  $a, b \in S$  such that  $x = ax^2b = axxb$ . Then

$$\begin{split} \left(f \circ_k^{k^*} g\right)^- (x) &= (f \circ g) (x) \wedge \frac{k^* - k}{2} \\ &= \left(\bigvee_{x=pq} \left\{f \left(p\right) \wedge g \left(q\right)\right\}\right) \wedge \frac{k^* - k}{2} \\ &\geq \left\{f \left(ax\right) \wedge g \left(xb\right)\right\} \wedge \frac{k^* - k}{2} \\ &\geq \left\{\left(f \left(x\right) \wedge \frac{k^* - k}{2}\right) \wedge \left(g \left(x\right) \wedge \frac{k^* - k}{2}\right)\right\} \wedge \frac{k^* - k}{2} \\ &= f \left(x\right) \wedge g \left(x\right) \wedge \frac{k^* - k}{2} \\ &= \left(f \wedge_k^{k^*} g\right)^- (x) \,. \end{split}$$

Thus,  $(f \wedge_k^{k^*} g)^- \leq (f \circ_k^{k^*} g)^-$ .

(2) $\Rightarrow$ (1): Let R and L be right and left ideals of S. Then by Lemma 3.14,  $(C_k^{k^*})_L^$ is an  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal of S and  $(C_k^{k^*})_R^-$  is an  $(\in, \in \lor (k^*, q_k))$ -fuzzy right ideal of S. Thus by assumption, we have

$$\begin{pmatrix} C_k^{**} \end{pmatrix}_{LR}^{-} = \begin{pmatrix} C_L \circ_k^{**} C_R \end{pmatrix}$$

$$\geq \begin{pmatrix} C_L \wedge_k^{**} C_R \end{pmatrix}$$

$$= \begin{pmatrix} C_k^{**} \end{pmatrix}_{R \cap L}^{-}.$$

So  $R \cap L \subseteq LR$ . Hence from Lemma 2.2, it follows that S is intra-regular.

**Theorem 3.23.** For a semigroup S, the following are equivalent:

(1) S is both regular and intra-regular.

- (2)  $(f \circ_k^{k^*} f)^- = (f_k^{k^*})^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideal f of S.
- (3)  $(f \circ_k^{k^*} f)^- = (f_k^{k^*})^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy bi-ideal f of S.
- (4)  $\left(f \circ_k^{k^*} g\right)^- \ge \left(f \wedge_k^{k^*} g\right)^-$ , for all  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideal f and g of S

(5)  $(f \circ_k^{k^*} g)^- \ge (f \wedge_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideal f and  $(\in, \in \lor (k^*, q_k))$ -fuzzy bi-ideal g of S.

(6) 
$$\left(f \circ_k^{k^*} g\right)^- \ge \left(f \wedge_k^{k^*} g\right)^-$$
, for all  $(\in, \in \lor (k^*, q_k))$ -fuzzy bi-ideal  $f$  and  $g$  of  $S$ .

*Proof.* (1) $\Rightarrow$ (6): Let f and g be any  $(\in, \in \lor (k^*, q_k))$ -fuzzy bi-ideal f of S. Since S is both regular and intra-regular, for  $x \in S$ , there exist  $a, b, c \in S$  such that x = xaxand  $x = bx^2c$ . Then  $x = xax = xaxax = xa(bx^2)ax = (xabx)(xcax)$ . Thus,

$$\begin{split} \left(f \circ_k^{k^*} g\right)^- (x) &= (f \circ g) \wedge \frac{k^* - k}{2} \\ &= \left(\bigvee_{x=pq} \left\{f\left(p\right) \wedge g\left(q\right)\right\}\right) \wedge \frac{k^* - k}{2} \\ &\ge (f\left(xabx\right) \wedge g\left(xcax\right)\right) \wedge \frac{k^* - k}{2} \\ &\ge \left(f\left(x\right) \wedge \frac{k^* - k}{2}\right) \wedge \left(g\left(x\right) \wedge \frac{k^* - k}{2}\right) \\ &= f\left(x\right) \wedge g\left(x\right) \wedge \frac{k^* - k}{2} \\ &= \left(f \wedge_k^{k^*} g\right)^- (x) \,. \end{split}$$

So,  $(f \circ_k^{k^*} g)^- \ge (f \wedge_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy bi-ideal f and g of S. (6) $\Rightarrow$ (5) $\Rightarrow$ (4) are straightforward.

 $\begin{array}{l} (4) \Rightarrow (2): \text{ In } (4), \text{ take } f = g. \text{ Then we have } \left(f \circ_k^{k^*} f\right)^- \geq \left(f_k^{k^*}\right)^-. \text{ Since } \\ \text{every } (\in, \in \lor (k^*, q_k))\text{-fuzzy quai-ideal is an } (\in, \in \lor (k^*, q_k))\text{-fuzzy subsemigroup, } \\ \left(f_k^{k^*}\right)^- \geq \left(f \circ_k^{k^*} f\right)^-. \text{ Thus } \left(f_k^{k^*}\right)^- = \left(f \circ_k^{k^*} f\right)^-. \\ 416 \end{array}$ 

 $(6) \Rightarrow (3)$ : In (6). take f = g. Then we have  $(f \circ_k^{k^*} f)^- \ge (f_k^{k^*})^-$ . Since every  $(\in, \in \lor (k^*, q_k))$ -fuzzy bi-ideal is an  $(\in, \in \lor (k^*, q_k))$ -fuzzy subsemigroup,  $(f_k^{k^*})^- \ge (f \circ_k^{k^*} f)^-$ . Thus  $(f_k^{k^*})^- = (f \circ_k^{k^*} f)^-$ .

 $(3) \Rightarrow (2)$  is straightforward.

 $(2) \Rightarrow (1)$ : Let Q be a quasi-ideal of S. Then by Lemma 3.15,  $C_Q$  is an  $(\in, \in \lor (k^*, q_k))$ fuzzy quasi-ideal of S. Thus, by assumption, we have  $(C_Q \circ_k^{k^*} C_Q)^- = (C_k^{k^*})_Q^-$ . So  $(C_k^{k^*})_{QQ}^- = (C_Q \circ_k^{k^*} C_Q)^- = (C_k^{k^*})_Q^-$ . Hence QQ = Q. Therefore by Lemma 2.3, Sis both regular and intra-regular.

### **Theorem 3.24.** For a semigroup S, the following are equivalent:

(1) S both regular and intra-regular.

(2)  $(f \circ_k^{k^*} g)^- \land (g \circ_k^{k^*} f)^- \ge (f \land_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy right ideal f and every  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal g of S.

(3)  $(f \circ_k^{k^*} g)^- \land (g \circ_k^{k^*} f)^- \ge (f \land_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy right ideal f and every  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideal g of S.

(4)  $(f \circ_k^{k^*} g)^- \land (g \circ_k^{k^*} f)^- \ge (f \land_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy right ideal f and every  $(\in, \in \lor (k^*, q_k))$ -fuzzy bi-ideal g of S.

(5)  $(f \circ_k^{k^*} g)^- \land (g \circ_k^{k^*} f)^- \ge (f \land_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy right ideal f and every  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal g of S.

(6)  $(f \circ_k^{k^*} g)^- \land (g \circ_k^{k^*} f)^- \ge (f \land_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal f and every  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasi-ideal g of S.

(7)  $(f \circ_k^{k^*} g)^- \land (g \circ_k^{k^*} f)^- \ge (f \land_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal f and every  $(\in, \in \lor (k^*, q_k))$ -fuzzy bi-ideal g of S.

(8)  $(f \circ_k^{k^*} g)^- \land (g \circ_k^{k^*} f)^- \ge (f \land_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal f and every  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal g of S.

(9)  $(f \circ_k^{k^*} g)^- \land (g \circ_k^{k^*} f)^- \ge (f \wedge_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasiideal f and g of S.

(10)  $(f \circ_k^{k^*} g)^- \land (g \circ_k^{k^*} f)^- \ge (f \land_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasiideal f and  $(\in, \in \lor (k^*, q_k))$ -fuzzy bi-ideal g of S.

(11)  $(f \circ_k^{k^*} g)^- \land (g \circ_k^{k^*} f)^- \ge (f \land_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy quasiideal f and  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal g of S.

(12)  $(f \circ_k^{k^*} g)^- \land (g \circ_k^{k^*} f)^- \ge (f \wedge_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy biideal f and g of S.

(13)  $(f \circ_k^{k^*} g)^- \land (g \circ_k^{k^*} f)^- \ge (f \land_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy biideal f and  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal g of S.

(14)  $(f \circ_k^{k^*} g)^- \land (g \circ_k^{k^*} f)^- \ge (f \wedge_k^{k^*} g)^-$ , for every  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal f and g of S.

*Proof.* (1) $\Rightarrow$ (14): Let f and g be any  $(\in, \in \lor (k^*, q_k))$ -fuzzy generalized bi-ideal of S. Since S is both regular and intra-regular, for  $x \in S$ , there exist  $a, b, c \in S$  such that x = xax and  $x = bx^2c$ . Then  $x = xax = xaxax = xa(ba^2c)ax = (xabx)(xcax)$ .

Thus,

(

$$\begin{split} \left(f \circ_k^{k^*} g\right)^- (x) &= \left(\bigvee_{x=pq} \left\{f\left(q\right) \wedge g\left(q\right)\right\}\right) \wedge \frac{k^* - k}{2} \\ &\geq \left\{f(xabx) \wedge g\left(xcax\right)\right\} \wedge \frac{k^* - k}{2} \\ &\geq \left\{\left(f(x) \wedge \frac{k^* - k}{2}\right) \wedge \left(g\left(x\right) \wedge \frac{k^* - k}{2}\right)\right\} \wedge \frac{k^* - k}{2} \\ &= f\left(x\right) \wedge g\left(x\right) \wedge \frac{k^* - k}{2} \\ &= \left(f \wedge_k^{k^*} g\right)^- (x) \,. \end{split}$$

In similar, way we can prove that  $(g \circ_k^{k^*} f)^- \ge (f \wedge_k^{k^*} g)^-$ . So  $(f \circ_k^{k^*} g)^- \wedge (g \circ_k^{k^*} f)^- \ge (f \wedge_k^{k^*} g)^-$ .

 $\begin{array}{c} (14) \Rightarrow (13) \Rightarrow (12) \Rightarrow (10) \Rightarrow (9) \Rightarrow (3) \Rightarrow (2), \ (14) \Rightarrow (9) \Rightarrow (10), \ (14) \Rightarrow (8) \Rightarrow (7) \Rightarrow (6) \Rightarrow (2) \\ \text{and} \ (14) \Rightarrow (5) \Rightarrow (4) \Rightarrow (3) \Rightarrow (2) \text{ are straightforward.} \end{array}$ 

 $(2) \Rightarrow (1)$ : Let f be an  $(\in, \in \lor (k^*, q_k))$ -fuzzy right ideal and g an  $(\in, \in \lor (k^*, q_k))$ -fuzzy left ideal of S. Let  $x \in S$ . Then we have

$$\begin{split} \left(f \circ_k^{k^*} g\right)^- (x) &= (f \circ g)(x) \wedge \frac{k^* - k}{2} \\ &= \left(\bigvee_{x=bc} \left\{f(b) \wedge g(c)\right\}\right) \wedge \frac{k^* - k}{2} \\ &= \bigvee_{x=bc} \left\{f(b) \wedge g(c) \wedge \frac{k^* - k}{2}\right\} \\ &= \bigvee_{x=bc} \left\{\left(f(b) \wedge \frac{k^* - k}{2}\right) \wedge \left(g(c) \wedge \frac{k^* - k}{2}\right) \wedge \frac{k^* - k}{2}\right\} \\ &\leq \bigvee_{x=bc} \left\{f(bc) \wedge g(bc) \wedge \frac{k^* - k}{2} \right\} \\ &= f(x) \wedge g(x) \wedge \frac{k^* - k}{2} \\ &= \left(f \wedge_k^{k^*} g\right)^- (x) \,. \end{split}$$

Thus,  $(f \circ_k^{k^*} g)^- \leq (f \wedge_k^{k^*} g)^-$ . So by assumption,  $(f \circ_k^{k^*} g)^- \geq (f \wedge_k^{k^*} g)^-$  and thus  $(f \circ_k^{k^*} g)^- = (f \wedge_k^{k^*} g)^-$ . Hence by Lemma 3.16, *S* is regular. Also by assumption,  $(f \circ_k^{k^*} g)^- \geq (f \wedge_k^{k^*} g)^-$ . Therefore by Theorem 3.22, *S* is intra-regular.  $\Box$ 

#### References

- S. K. Bhakat and P. Das, On the definition of a fuzzy subgroup, Fuzzy Sets and Systems 51 (1992) 235–241.
- [2] S. K. Bhakat and P. Das<br/>, $\ (\in,\in \lor q)$ -fuzzy subgroups, Fuzzy Sets and Systems<br/>  $\ 80$  (1996) 359–368.

- [3] S. K. Bhakat and P. Das, Fuzzy subrings and ideals redefined, Fuzzy Sets and Systems 81 (1996) 383–393.
- [4] S. K. Bhakat,  $(\in \lor q)$ -level subset, Fuzzy Sets and Systems 103 (1999) 529–533.
- [5] B. Davvaz,  $(\in, \in \lor q)$ -fuzzy subnearrings and ideals, Soft Computing 10 (2006) 206–211.
- [6] Y. B. Jun and S. Z. Song, Generalized fuzzy interior ideals in semigroups, Inform. Sci. 176 (2006) 3079–3093.
- [7] Y. B. Jun, Generalizations of  $(\in, \in \lor q)$ -fuzzy subalgebras in BCK/BCI-algebras, Comput. Math. Appl 58 (2009) 1383–1390.
- [8] O. Kazanci and S. Yamak, Generalized fuzzy bi-ideals of semigroup, Soft Computing 12 (2006) 1119–1124.
- [9] N. Kuroki, Fuzzy bi-ideals in Semigroups, Commentarii Mathematici Universitatis Sancti Pauli 28 (1979) 17–21.
- [10] N. Kuroki, On fuzzy ideals and fuzzy bi-ideals in semigroups, Fuzzy Sets and Systems 5 (1981) 203–215.
- [11] J. N. Mordeson, D. S. Malik and N. Kuroki, Fuzzy Semigroups, Studies in Fuzziness and Soft Computing, vol. 131, Springer-Verlag, Berlin 2003.
- [12] J. N. Mordeson and D. S. Malik, Fuzzy Automata and Languages, Theory and Applications, in: Computational Mathematics Series, Chapman and Hall/CRC, Boca Raton 2002.
- [13] V. Murali, Fuzzy points of equivalent fuzzy subsets, Inform. Sci. 158 (2004) 277-288.
- [14] P. M. Pu and Y. M. Liu, Fuzzy topology I, neighborhood structure of a fuzzy point and Moore-Smith convergence, J. Math. Anal. Appl. 76 (1980) 571–599.
- [15] A. Rosenfeld, Fuzzy subgroups, J. Math. Anal. Appl. 35 (1971) 512–517.
- [16] M. Shabir, Y. B. Jun and Y. Nawaz, emigroups characterized by  $(\in, \in \lor q_k)$ -fuzzy ideals, Comput. Math. Appl 60 (2010) 1473–1493.
- [17] M. Shabir, Y. B. Jun and Y. Nawaz, Characterizations of regular semigroups by (α, β)-fuzzy ideals, Comput. Math. Appl 59 (2010) 161–175.
- [18] J. Tang, N. Mohammad Khan and M. Aasim Khan, Study on interval valued generalized fuzzy ideals of ordered semigroups, Annals of Fuzzy Mathematics and Informatics ) 11 (2016) 783–798.
- [19] N. Thillaigovindan, V. Chinnadurai, S. Kadalarasi, Characterizations of near-rings by interval valued ( $\alpha, \beta$ )-Fuzzy ideals, Ann. Fuzzy Math. Inform. ) 11 (2016) 35–51.
- [20] L.A. Zadeh, Fuzzy sets, Information and Control 8 (1982) 71–79.

<u>MUHAMMAD SAJJAD ALI KHAN</u> (sajjadalimath@yahoo.com) Department of Mathematics, Hazara University Mansehra, KPK, Pakistan

<u>SALEEM ABDULLAH</u> (saleemabdullah81@yahoo.com) Department of Mathematics, Abdul Wali Khan University Mardan, KPK, Pakistan

<u>KHAISTA RAHMAN</u> (khaista355@yahoo.com) Department of Mathematics, Hazara University Mansehra, KPK, Pakistan

<u>SYED ZAHEER ABBAS</u> (zaheer@hu.edu.pk) Department of Mathematics, Hazara University Mansehra, KPK, Pakistan